% 5 O = Y R (GBERED Mo 1/ 4

ANEERRES (i) 20224£01 B 258
% 1) $a WK ABRUEX s &

iE 1 14 50, 400 36x 14

iF 2 6 21, 600 36x 6

IR 2 5 18, 000 36x 5

FO 1 20 12, 000 36x 20

702 44 158, 400 36x 44

4 16 57, 600 36x 16

1 107 385, 200 36x107

2 182 655, 200 36x182

3 191 687, 600 36x191

4 35 126, 000 36x 35

5 3 10, 800 36x 3

F 53 190, 800 36x 53

F1 176 633, 600 36x176

22 3731 1,342,800 36x373

2 3 326 | 1,173,600 36x326
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% 5 [H * Y K (EBRED) M 2/ 4
APREREES (1) 2022401 R25H
F R FER w % A#BERUEHR " &
# 4 141 507, 600 36x141
+ b 6 21, 600 36x 6
E 9 32, 400 36x 9
E 1 29 104, 400 36x 29
E 2 35 126, 000 36x 35
Z 3 75| 270,000  36x 75
E 4 14 50, 400 36x 14
FEH 6 21,600 36x 6
FE1 55 198, 000 36x 55
FE2 24 86, 400 36x 24
FES3 10 252, 000 36x 70
FE4 21 15, 600 36x 21
FED 8 28, 800 36x 8
EOH 22 19, 200 36x 22
EO1 4 14, 400 36x 4
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% 5 @ = U K (FHERET) Mo 3/ 4
ANBEGEES (1) 20224°01R25H
F ® R ® B ABRUVER & &

EO2 7 25, 200 36x 7

EO4 1 3, 600 36x 1

7 2 5 18, 000 36x 5

B 4 12 43, 200 36x 12

= 2 16 57, 600 36x 16

=3 28 100, 800 36x 28

=4 4 14, 400 36x 4

FE= 14 50, 400 36x 14

B 1 o1 183, 600 36x 51

B 2 54 194, 400 36x 94

B 3 32 115, 200 36x 32

B 4 I 25, 200 36x 7

BE 1 6 21, 600 36x 6

BE2 5 18, 000 36x 5

BES 6 21, 600 36x 6
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= 5 g = Y ORR (HERED M4/ 4

ANEXBEEES (hiE) 20224F01 A 258
% 1% o Ca ABEUHEK %

< 2 2 7,200 36x 2

<O1 5 18, 000 36x 5

<02 i 3, 600 36x 1

<O3 4 14, 400 36x 4

O 4 11 39, 600 36x 11

O 1 28 100, 800 36x 28

O 2 17 61, 200 36x 17

O 3 6 21, 600 36x 6

1 4 14, 400 36x 4

2 1 3,600 36x 1

o1 33 118, 800 36x 33

W2 33 118, 800 36x 33

B 3 14 50, 400 36x 14

& 5t | 2,477| 8,917,200 | X% (2, 477)
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